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For parents to understand what is expected in

the KS2 SATS Arithmetic paper and have
knowledge of the methods taught in school

In the maths SATS papers...

ARITHMETIC is Rey!!

Paper 1Arithmetic is out of 40 marks
Paper 2 Reasoning is out of is out of 35 marks

Paper 3 Reasoning is out of is out of 35 marks
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What are the basic skills children need to know for the Year 6 SATs?

There are some skills that prove invaluable for the Year 6 SATs, but they often
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get neglected — such as number bonds, times tables and finding fractions or

percentages of amounts. It is important that your child is secure with these

skills.
Arithmetic Paper

This paper tests how well children can work out calculations with no context.

Youll only see a calculation and an answer box for each question, as well as a

small area to show your workings. This test is quite short — only 30 minutes.

That’s why it’s important to practise mental maths all year round.

How can I help my child with KS2 maths?

Basic skills
Recap

Encourage neat number formation

4 | 39+673= {K \_ stdn
NENREEREEEEREEENEN.
i NEaEEEREEEN
ENEERCEFOEEERRENEE

- Pl
,-,m‘i.. i e _._._.,i. M.%_,,N;,, ﬁ,mr,%, -_,_g,,w.-i__.,* WT 7_ '2
BN

1 markc




parent meeting.notebook

June 05, 2024
9 _4 _
2 | 11 117
5
1
| [ 1]
3 | 2x45=
| |
EEEEEEEERREE 90 |
N T A O O A R B




parent meeting.notebook June 05, 2024

|
4 | 838+1=
— T ~r
1 - o 5
m |
- 1 |
|
ElEEEEEENEEN 1
~+t R 938
| | L




parent meeting.notebook June 05, 2024

200
| 1]
7 | 7,064 -502=
Fiole [

-~ 15lol2 |
5/6/2 '

I
EEERERREREREREEXALS
RN




parent meeting.notebook June 05, 2024

8 6°+ 10 =

it i
N
a~

61=16 x_L

|

i

]

|

{
+
11X

o | 563B2AT= ity

R \L.
g e ey = 516" 38 | e P
1 12lel70(%
1T sl 1ol
S " 0 T A T
| | { i
Al .<‘}- —t
%



parent meeting.notebook

12

5,400 =9 =

13

60+15= tO

How cowld doublus
0w G ;lokuxj

W .

June 05, 2024



parent meeting.notebook

- 10 = 29
10 308 0=298 16
. o
§ 1nverse .
T T T 121qlsi+lilol=13l0/ 8 IN
whod number swdls con
11 270 +3 = holp us?
L l2l#=13 =4
mEpISOEEEG] |
EREEEEENER |
! i
:
|

June 05, 2024



parent meeting.notebook June 05, 2024

14 = 5,776 —- 855

WCAEIEN
S

15 | 3,050,020 = 3,000,000 +| 50,000 |+20




parent meeting.notebook June 05, 2024

16 | 10-54= Prace holdars

5 —
17 | 7%21°




parent meeting.notebook June 05, 2024

0.1+100 =
18 oto|o}f1

000
[ [ 1]
19 | 30f1,000="150 5,
—Ne——
A 2%0 2%0 Z.ipﬁ#lui:
1000 ol
- 250 1
LS FEP= t.'v,,-__.:’__ L — 4 0 1 L 1
| BEEEEE AL
Lt T




parent meeting.notebook June 05, 2024

20 71815 -
X | 2.3 REREN
1213 5 5 , !
\[5#/6l0
HAREEN |
Show i | +
your |- . I s T S
method | = ‘ B

To fnd 107 = 1O
24 | 20% of 1,200 = A
NEANNAR SN ENEICEWE
e 20%’7. of 11200121240, ¢
Aor 1 | T
07| (b 3 Pl
N SO A 240
PFEEEEEEEEFENEREEND

\02‘[ [0%]10¢| i0%| 0| 10% 0% 0 lQ‘/gl 07,

120c| 12011201 120 v26 | 126|120 [ i20] V20 120
g

207 = lov. t 107,

120 + 120 = 2%0




parent meeting.notebook

Dms — Diwide ,w\u\*;p\.q,Sul\ﬁmd*

40x| 3x 43 x
22 115 4o | 3] | 48
431645 go |e6| | 86
MY 12/ 09| | 129
215 160 |12 | 172
2V |5 2000 |15 215
oloy/ 240 |18 258
sh
Sou 280 21| | 301
method 320 |24 | 344
360 |27 287 \5
| |
23 | 0.5x28=
0!s [T T
xo g, L | N
X =1 %[0

June 05, 2024



June 05, 2024

parent meeting.notebook

1*5

1|w2

|
P

X2

i
.\_.70

24

o<t

o<

.

i i
T

A L |~}
3 ﬂbm %| — I
- | JIINE B
u!..!w..l i,”..vl) peow—
N I
m.- P

@ I,M,!..Il'iull.x\:.

|
_‘..,..!L,-\.u

R S

25




parent meeting.notebook

June 07, 2024

26 | 6-5.738=
SY B¢ o
5338,
0:26 2
|
0262 _
I 1 mark
27 | 3.9x30=
OV 39 x3-11 7%
384 x30 = 3ax30= 11 #0
g Ve
x__3 Vi F
Vi F
2
4
1 mark




parent meeting.notebook June 07, 2024

28 | M5-5=

el

Zz
—3 1 mark
29 5413
x 8 6 |
32k 78 (5% 13x So?
t3 30460 (SY%13 x80
k655 1% ’
Show
your
method
| b5, 518
l 2 marks




parent meeting.notebook

June 05, 2024

\Bha's
N
30 | 99% of 200 =
| |71kl 2]0 10 |=| 2
ijlololvl=l)1lz] =997
&/ L
200 -2 |=[1/9/8
HER
1.0_ =keep
31 Z?,_g._ - ¢ e
‘ -~ QU
\\fl—i
v 712" 8
r L]




parent meeting.notebook June 05, 2024

, B1D MAS
32 | 99-36+9=

This is a relatively s'tmple question - the 2024 paper gave the answer as a decimal!
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